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QUESTION 1

Given the code fragment: 

Which two code fragments, when inserted independently at line 6, enable the code to print true? (Choose two.) 

A. boolean b = nums.stream() .noneMatch(n -> n==20); 

B. boolean b = nums.stream() .filter(n -> n == 20) .allMatch(n -> n == 20); 

C. boolean b = nums.stream() .filter(n -> n == 20) .noneMatch(n -> n == 20); 

D. boolean b = nums.stream() .map(n -> 20) .noneMatch(n -> n == 10); 

E. boolean b = nums.stream() .allMatch(n -> n == 20); 

Correct Answer: BD 

 

QUESTION 2

Given the code fragment: 

Which code fragment, when inserted at line n1, enables the code to print [500,1000]? 

A. Function funIntf = n -> n * 5; 

B. Consumer funIntf = n -> n * 5; 

C. UnaryOperator funIntf = n -> n * 5; 

D. IntFuction funIntf = n -> n * 5; 

Correct Answer: C 

 

QUESTION 3
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Given the following incorrect program: 

Which two changes make the program work correctly? (Choose two.) 

A. The MyTask class must be modified to extend RecursiveAction instead of RecursiveTask. 

B. The computeDirectly() method must be enhanced to fork() newly created tasks. 

C. The compute() method must be changed to return an Integer result. 

D. The THRESHOLD value must be increased so that the overhead of task creation does not dominate the cost of
computation. 

E. Results must be retrieved from the newly created MyTask instances and combined. 

F. The midpoint computation must be altered so that it splits the workload in an optimal manner. 

Correct Answer: CE 

The compute() method must return an Integer result. The results of the InvokeAll tasks must be combined. 

Incorrect Answers: 

A: RecursiveAction is just like RecursiveTask except it does not return a result 

F: The Midpoint, mid = (low + high)/2, is fine. Reference: http://www.baeldung.com/java-fork-join 

 

QUESTION 4

Given the Greetings.properties file, containing: and given: 
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What is the result? 

A. Goodbye everyone! 

B. Hello, everyone! 

C. HELLO_MSG 

D. Compilation fails. 

E. Goodbye_MSG 

Correct Answer: D 

The following line fails compilation: 

System.out.println(resource.getObject(1)); 

The Java.util.ResourceBundle.GetObject(String Key) gets an object for the given key, in string format not integer format,
from this resource bundle or one of its parents. 

Reference: https://www.tutorialspoint.com/java/util/java_util_resourcebundle.htm 

 

QUESTION 5

Given: 
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What is the result? 

A. class java,lang.ArrayIndexOutOfBoundsException 

B. null 

C. class java.lang.NullPointerException 

D. class java.lang.Exception 

E. Compilation fails 

Correct Answer: B 
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